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: =400+ 1500
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=40
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: =160
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@z (70+80) X 6 =150%X 6
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1 DONDRTE<LHE® P64 - 65 : 1 DDOXTE L FIREGW® P68 - 69

X (7T+5)+4=12+4 : X 560+ (60+20)=7
=3 : &Z T4
BEZX 3. i 2] & (60+25) x4 =340
X (74+8)+3=15+3 : X 340M
=5 P8 80x(7-3)=320
HEA 52 : &EA 320H
B3] & (25+20)+5=9 fle) X 24t+12)+9=4
EZA 9Fuv : EA 4Fuv
4 ® (26+14)+8=5 i) X  5%x(9+7)=80
BX 5C : BX 80\
5) &%  (48+36)+7=12 (6] % (150—10) X 6 =840
BZX 122 : X 840M
(6) X  (35+25)+12=5 c (7R 720+(110—-20)=8
EX 5%u : EX 8C
®  (4004+200)+5=120 : ®  (5004+250)+5=150
&Z  120mL &ZA  150mL
X  (2204230)+3=150 c(9) &  (4504200)x 3=1950
ZZ 150AH : X 1950mL
(9) X (450+510)+6=160 D ORAVh 27E~32E0% £ T ELVURSTER TS
&EZ 160H : PEEDUEL LD,
OHIVN bohaRE( ) EESTO+2) +ORE
LR SBETIELBNT | AN 1 ORTESEBG, e
1) O 20+4=5, 100X 5=500
. 5 : X 500/
19wﬁrt(ﬁ§i§@%667 : @z 100X (20=4)=100X 5
X 200+ (45—5)=200+40 : =500
=5 500/
&HA 52 : 35+-5=17, 80X 7=560
2) & 510=(100—15)=6 : 560/
BHERX 6% 80X (35+5)=80X 7
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